2022 FYONEXH E/INMBZFES 2TV TILVREFIERES

10 LLF 2022456 H5H
&N o B EBK IS
INK EE iz A 3K 4 E3 -
SASLEF=RE5T J T EIMNK 5 ULVE ACIub BEETZRIS5T
NANK FE 6 — ole — 116 — 7 5
SASUIFZRYTT (5)
=N —
g = 0 — 6 ! >lo - 6 3
J T EIMNG (6)
5 + > _
a1F BX . - 6|8 7 0 — 6 4
5LV AClub (6)
BEFZRHS5T (5)
12 BF 2022468 5H
AJOwvs &N o B EBK IS
Y EH 4 EZ3 WA Sk | #R EKX W
BEETIT LA SATVY SATVY =RETC
=N ¥
A EF 6 — 4l6 - 116 — 1 1
EETTOA
;5 E3 4 — 6 6 — o0l2 — & 3
SATUY
S
W 5mRk 1 — 6|0 — 6 1 — 6 4
S4SUY
=
=ETC
BJOwvY BN B EERIS
L% EHFH @ Al Hd BAE#H| REF B 1B
KB =2 TR DR J T EIME M LB ACIUb SATUY
t% E# 6 — 1016 — o6 — o0 1
XRFZATR—YLER
k4 AI
FE Al 1 — 6 6 — 0|3 — 6 3
J 7T EIMK
Hth HBAHF o — 6lo0 - 6 0 — 6 4
EIME S LB AClub
=y %
/\EY ELIL 0 _ 6 6 _ 3 6 _ 0 2
S4SUY




2022FYONEXM E/IMNEEF 12T ¥

12 LU T BF
ML b—F A2
K&

L% =8

261 k—F Ak
K&

AR EX

RE B

L k—F A
K&

He E3

AL k—F AUk
K4

WA ShAk

Hef BHEF

~

BEYT oA

XRT=ZRATR—YDEE

R

BETC

J TV EIMA

Z/IV S LV EACIub

DIV EFEKX

202256 A5H

&IV EEBRS

6

MR EX
-2

ESO I s

6

- 3




2022 YONEXREIMIEFED 2T OV T NVRAEFEXRE

14 T B F 202246 A5H
INGR o EEBR IS
BE HE ‘kik & KR FEml =17 B3 At X -
EETTOA | =@z | moaEEk | Sqouy | mETTLA
(5N \E
AR & W.0 W.0 W.0 W.O 5
EETT A
ek = _ 2 — 6|7 - 60 — 6 3
EWToRGe
x| 2]
xR A — 6 — 2 6 — 1|4 — 6 2
=) BERER
p— E’_:: —_
=5 B — 6 11 - & 2 — 6 4
SATUY (5)
A — 6 — 0|6 — 4|6 — 2 1
BEETTLA




2022 YONEX E/INREZFES 2TV TILVAEFIEXRES

16 LL T & F 202246 HA4H
IR o EEBR S
BE S AR M o HhY -
BEETI LA ERET-AHBE | EET=AHE
- 6 — 1 4 — 6
BE R
6 — 4 2 - 6 2
EETI DA
N 1 — 6 0o - 6
BAR FH
4 — 6 2 - 6 3
ERTABE
6 — 4 6 — 0
o Hhy
6 — 2 6 — 2 1

EWT AWM




2022FEYONEXH E /M BFEES 2 7L VTNV ABFEXRS

18RLUTBF 20224F6 4R
AJovy =Nk o BRI
fEBE BX R uET fIEp  EE— Y5H  #RFN -
BRI EMEIE EMEIE EWEDH
fEBE BX _ 9 _ _ 1 1
EIMET %
R uET 2 _ - - 6 3
EIMET %
fIER EE— 0 _ _ 6 _ 7 4
BNV TE
SEE  fEFD _ _ 1 - 2
EMEER
BJ7AvYH
il kE &L mE HY B3 EE 2 B
it EMETE EMETE BRI
B BkE _ 5 _ _ 1 1
EEEE
AL wmE 5 — - - 4 2
ENET
HY B3 2 _ _ 6 _ 6 4
BNV TE
EER i - — 6 - 3
EINETE
covy
[RE =3} s SEE Nk @B R a3} -
EIMET =R EMEIE EMEITE EMEITE
[REA =3} _ 3 _ _ 9 1
EINET =R HE
N 3 _ _ _ 9 3
EIMETE
Npe & 4 — - 3 - 3 2
EIMET %
R OB 2 _ _ 6 _ 4
EIVET R
DJav¥y
Y X# i BRAE e EZE -
BETT oA EMEIE EMEIE
A X# _ 0 _ 1
BETTOA
rhith R4 _ 6 _ 3
BT
wlm 2= 6 - 2 2
BT




20225 YONEXMWE/NMEFC 2T OV T ILVRABFIEXRS

18T B F 20225648
1 b—F A b =N R ERERR I
B4 R
il X EIMET R
Ba AN
6 — 1
£a X3 BETT DA
Ba AN
7 — 6
RE R EMETF RS @)
ML RE
7 — 5
WL R EHEER
25 h—F A b
P R
£l BE Mg T %
MR B
7 — 5
MR @ Mg T %
WE B
6 — 4
EE A EHEER
WE B
6 — 2
W B EMET S
I h—F A R
&4 R
BA BT EMET S
&S IME
6 — 1
B AME /Mg T %
B =
6 - 4
N Mg T %
B =
6 — 3
iy Bt /Mg T %
A h—F A 2 b
&4 R
®HH B ENNETE
M# E—
6 — 1
FE E— £ TR

PIER E—

R B3 BRI % ®)




